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- People enter a line for an escalator at a rate modeled by the function r given by
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where r(f) is measured in people per second 'and 1 is measured in seconds. As people get on the escalator,

they exit the line at & constant rate of 0.7 person per second There are [0 people in ling at time ¢ = 0,
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(a) How many people enter the line for the escalator dunng the time mtervai 0<r<3007
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by Durmn the time interval 0 < f < 300, there are always people in line for the escalator. How many people
are in line at time ¢ = 300 7
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(c)" For r = 300, what is the first time r that there aré no EeoEle in line for the escalator?
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(d) For 0 <1 < 300, at what time ¢ is the number of people in line 2 minimum? To the nearest whole
number, find the number of people in line at this time. Justify your answer 9 ot s o emd. P{'S.
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2 A particie moves along the x-axis with velocity given by v(r) = ~—2-—-—3—~ fortime 0 £1<3.5.
~ The particle is at poéi_tioﬁ x=—5attimet=0. el
(a) Find the Qaccele‘ra:ion-qf‘;hg p':irtjci_e: at time? =3,
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S _(c}- Evaluate L v(z) dr and evaluate -[o ] v_('_r)[,d_z. Interpret the meaning of each integral in the context of
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(d) A second pamc]e moves: along thcx axxs wnh posmon owen by l')(f)

5 um~ r are the two pamcles moving. w:th the: same velociiy?
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